
24.1n retinal laser photocoagulation decrease spot size to half leads to:
a. Decrease total energy to half
b. Increase energy by two folds
c. Increase energy by three folds
d. Increase energy by four folds

25. Congenital dacryocele:
" a. Present with a mass above medial palpebral ligament

b. Can be associated with inffanasal mucocele
c. Is best treated with incision and drainage through the skin
d. usually indicates stenosis of the bony nasolacrimal duct

26.Which one of the following is frue regarding congenital hereditary endothelial
dystrophy?

a) Nystagmus is absent in the recessive form of the disease.
b) There are usually associated systemic abnormalities.
c) The recessive form is nonprogressive, whereas the dominantly inherited

form is slowly progressive.
d) Corneal clouding is present at birth in both forms of the disease

27.The following antibiotic is bactericidal:
a. Chloramphenicol
b. Tetracycline
c. Sulphonamide
d. Tobramycin

2S.Cystoid macular edema (CME) is accumulation of fluid in which layer of the
retina?

a. Inner nuclear
b. Outer nuclear
c. Inner plexiform
d. Outerplexiform

29.Which of the following viruses is transmissibte even after medical
instrumentation is cleaned with alcohol?

a. Herpes simplex virus
b. Adenovirus
c. Human immunodeficiency virus
d. Epstein-Barr virus

30.Which eye moYement disorder is mostly seen in patients with paraneoplastic
syndrome?

a. Superior oblique myokyma
b. Downbeat nystagmus
c. Upbeat nystagmus
d. Opsoclonus{


